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10.

11.

12.

13.

14.

15.




/1. Solve the following: \

1 1 k-1
3k+5 k+5 3k +20k+25

\_ /




/9. Find the horizontal

know the answer:

4

-
X —3x

\_

~

asymptote, explain how you

OO0
a3

=5z /




n& Simplify the following: \




ﬂ. Simplify the following: \




ﬂ?). Solve the following: \

x+3 [ 8x

2x—3  4x? -9




64. Marcie can wallpaper a \

bathroom in 3 hr. Bailey can
wallpaper the same bathroom in
5 hr. How long would it take
them if they worked together?:

\_




/8. Simplify the following: \

=16 x*+x-90
O—x x"+14x+40




6 . Find the vertical asympto'rh

3x%-10x -8
x?-16




. Simplify the following: \

3x+6
X+
X+ 2
x? -25




ﬁ Justin can install a new r'ooh

in 4 days. Ben can install the
same size roof in 6 days. How
long will it take them to install a
roof if they work together?:




/7 . Solve the following:

x+2_x—1

~

4x+ 2

2
X X X —

3x

[=] % ///







G. Simplify the following: \

c*—c—12 c¢*—6c+8
2+4c+3 c2+5c+4




K‘S. Find a value that is NOT \

included in the domain:




m 1. Simplify the following: \




